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Assignment

	
	Module 3: Lesson 1 ASSIGNMENT

This Module 3: Lesson 1 Assignment is worth 29 marks. The value of each assignment and each question is stated in the left margin.


	(29 Marks)
	Lesson 1 Assignment: Newton’s First and Second Laws of Motion


	(3 marks)
	LAB 1.
	Write a hypothesis. Follow the directions under the subheading “Hypothesis” on page 144 of your textbook.



Answer:

	


	(7 marks)
	LAB 2.
	Complete all the steps of “Procedure.” Then answer questions 1, 2, 3, 4, and 5 of the “Analysis.” You will create copies of “Table 3.2” and “Table 3.3” on page 145 and submit the tables with your recorded data to your teacher.



Answer:

	


	(8 marks)
	LAB 3.
	Answer questions 7, 8, 9, and 10 of “Analysis” on page 145 of your textbook.



Answer:

	


	(1 marks)
	LAB 4.
	Complete the step outlined in the first bullet, and write a hypothesis. Use the words if and then.



Answer:

	


	(2 marks)
	LAB 5.
	Complete the steps outlined in the third bullet. You will create two graphs.



Answer:

	


	(2 mark)
	LAB 6.
	Complete the steps outlined in the fourth bullet. You will analyze the data and compare it to your hypothesis.



Answer:

	


	(2 marks)
	TR 3.
	If a vehicle is involved in a collision that produces a –1500 N net force, what is the acceleration of a 75.5-kg passenger in the car?



Answer:

	


	(2 marks)
	TR 4.
	If an unbalanced force of +55.2 N causes a hockey puck to accelerate across some ice with an acceleration of +100 m/s2, what is the puck's mass?



Answer:

	


	(2 marks)
	TR 5.
	A plane with a mass of 4.50 × 103 kg accelerates on takeoff at 10.0 m/s2. What is the net force acting on the plane?



Answer:

	


	(2 marks)
	TR 6.
	A car can accelerate at 18.0 m/s2 and has a mass of 3500 kg. A motorcycle engine can produce 9000 N of force at maximum power output. If the motorcycle has a mass of 565 kg, can it accelerate faster than the car?



Answer:

	


	Once you have completed all of the questions, submit your work to your teacher.



